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課題の目標：簡約な拡大係数行列を持つ連立１次方程式の解を求める。

41 次の拡大係数行列を持つような連立１次方程式の解を求めよ。

(1)

(
1 0 1

0 1 2

)
(2)


1 0 0 1

0 1 0 −1

0 0 1 2

 (3)

(
1 0 2 1 0

0 1 1 −1 0

)

(4)


1 −2 0 3 0 2

0 0 1 −1 0 −1

0 0 0 0 1 1

 (5)


1 0 −1 0 −2 0

0 1 1 0 1 0

0 0 0 1 1 0

0 0 0 0 0 1



(6)


1 0 0 1

0 1 0 −1

0 0 1 2

0 0 0 0

 (7)


1 0 2 1 0

0 1 1 −1 0

0 0 0 0 0



(8)



1 0 −1 0 −2 0

0 1 1 0 1 0

0 0 0 1 1 0

0 0 0 0 0 1

0 0 0 0 0 0


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